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(Transitional states)

TOYODA HONTA

an1z3uFL | TOYODA 0.8 0.2

(Initial states) HONTA 0.5 0.5

am'n~n1stﬂ§ﬂuuﬂaa(Transient State)
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[Initial state] x [Transitional Matrix] = [Transitional state]

BSuan
0.8 02
[10000 10000]x =[13000 7000]
0.5 05
FmULIvaaSEnlalad asAvau washNaMnEN MG udunaasaly
Weauii 2
(0.8 0.2]
[13000 7000]x =[13900 6100]
0.5 0.5]
159%P 3
(0.8 0.2]
[13900 6100]x =[14170 5830]
0.5 0.5]
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[14170 5830]x[ }:[14251 5749]
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AN122AIA7 (Steady State)
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[x (20000-){)]{0.5 05

} =[x (20000 X)]

0.8X +0.5(20000— X) = X

03X +10000 = X
X =14285.7143
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0.8 02
[14285.7143 5714.2857]{05 05}=[14285.7143 5714.2857]
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-\ _ ﬂ' . . as J
dawihmuainnsfeuilss (Transitional Matrix) 6330

aneiulasulyl

(Transitional states)

A B c
anazEudu A 05 0.2 0.3
(Initial states) B 0.3 0.5 0.2
c 0.2 03 05
frauali
fwanzasgnd A wu P
Fwmvaigne B Ww P,
$wanvagnén C dw 1-P,-P,

NN fa anzieumMIEsuLles fusn Iz swulag

[n 2 a-R-P)}x|03 05 02|=[n P, (1-P-B)]

2lé

05 02 03

02 03 0.5

P =05A+03P,+02(1-P, - P)

P =02+0.3P +0.2P,

0.7P, -0.2P, =0.2

P, =02P +0.5P,+03(1-P,-P)
P,=03-0.12 +0.2P,

0.1~ -0.8P, =0.3

1-F -P,=03P,+02P, +0.51-P, - P)
0.8P, -0.7P, =0.5

rums (2) x (8) alen
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08P, —6.4P, =2.4 (@)
haums @) - (3) alddn
57P, =1.9
1.9

P, === =0.33333
5.7

P, unuluaums (1)

0.7P, —0.2(0.33333) = 0.2
P, =0.33333
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